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BT T2 MRl T8 T =% BT % Mg T8 T =%
HX 40,554 85937 40,955 44,982
RIRET1T 6 15 9 6
RIRET2T 27 58 28 30
RIRET3T 178 584 283 301
RIRET4T 420 975 481 494
B 631 1,632 801 831
REH 2,756 6,136 2,871 3,265
L&A 4334 9,354 4,360 4,994
BE 2,648 5,825 2,819 3,006
B AN 1,331 2,841 1,332 1,509
BERT 1,419 1,964 945 1,019
BER2T 922 1,614 785 829
BERST 757 1,815 871 944
B 3,098 5,393 2,601 2,792
BEXRE 288 644 313 331
= 2,196 4,797 2,285 2,512
hERE 639 1,410 648 762
e 2,425 4,955 2,395 2,560
25 L ET 2,336 4,976 2,384 2,592
B &AL BT 75 149 62 87
HEFILET1T 565 1,221 568 653
HEFILET2T 603 1,238 586 652
HEZFILAT3T 693 1,548 755 793
g 1,936 4,156 1,971 2,185
B & it B Fr ET 679 1,520 735 785
BHEREBET1T 581 1,167 574 593
BHERERET2T 766 1,707 830 877
BHERERETST 798 1,586 721 865
BHERERET4T 507 921 426 495
HEKERETST 829 1,644 785 859
HEERET6T 889 1,876 908 968
BHERERET7T 895 1,821 886 935
HERERETST 72 203 98 105
£t| 5337 10925 5,228 5,697
HEF R FET 2,007 4,105 2,005 2,100
S|EFET1T 640 1,589 789 800
S|EFET2T 71 1,721 810 911
S|EFET3 T 749 1,362 626 736
g 2,160 4,672 2,225 2,447
ERE1T 586 1,311 628 683
EIRET2T 385 1,025 508 517
EREIST 521 1,317 646 671
EIRETAT 695 1,433 631 802
EIZEIST 554 1,198 594 604
g 2,741 6,284 3,007 3,277
ME A 2,908 6,127 2,885 3,242
J\THET1T 32 34 17 17
J\THET2T 23 50 26 24
J\THEI3T 49 101 47 54
B 104 185 90 95
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